Math 172 - Quiz 10 Name ket\
November 8, 2017 ' Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Integrate: /csc10 8z cot? 8z dx

U=8%, du= 8dx, Fohu=dx

‘éf Cscqu COTALA, eSe W cov L A

st i Sty o

’}g& cscqt& ( cee u - \) 080 U CoT WU o\\g \ 5
L e’y - —— csc By

W= CC W : M‘Bo 16
~dw = cscw coT U dw /ﬂ i
_
_ L U a2 Ll v ) e
Bgu(“'\\d“ = TR Ta% T ew [+ C

2. (2 points) Integrate: /sin 3z sin10zdz
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3. (2 points) Integrate: /( -
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4. (3 ‘pomts‘) Ivntegrate: /1 Tdaz | ‘Xa-\ Yy-5 = Xi‘“\\( + Y -q
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5. (2 points extra credit) Integrate: /
-8 x + 2
(Warning: Pay careful attention to how this differs from the problem above. ) U= Jgec é
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